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The line 2x — v — 10 = 0 1s a tangent
to the curve ¥ = x> — 9, as shown ¥4 y=x*-9
il ’ ' ' 2x—y-10=0

The shaded region is bounded by \
the line. the curve and the x-axis. -

Calculate the area of this region.
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i : V= X(8—X
a 1s a real number such that 0 < ¢ < 8. ) : (8—)

The line v = ax intersects the curve y = x(8 — x)
at x=0 and at x = p.

(i) Show that p=8—a.
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(ii) Show that the area between the curve and e 0
3

the line 1s % square units.
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Let f(x)=x>-3x2+5. y=J(x
L 1s the tangent to the curve v = f(x) at its /

local maximum point. /\_/

Find the area enclosed between L and the curve.
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The diagram shows the curve v =4 — x?
and the line 2x+y—-1=0.

Calculate the area of the shaded region
enclosed by the curve and the line.
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